Level 3 - ADVANCED
Clove Hitch
It is considered one of the most important knots alongside the sheet bend and bowline. Also known as a double hitch, it is simply 2 back to back half hitches around a cylindrical object such as a tree, ax or a post. It causes an efficiency loss of approximately 40%. 
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Timber Hitch
The timber hitch is used to secure a rope round a post or any cylindrical object. It is also known as Bowyer’s Knot owing to its use in attaching the end of the bowstring to a longbow.
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Bowline Knot
The bowline (pronunciation “boh-lin”) is a knot that can itself be tied at the middle of a rope making a fixed, secure loop at the end of the line. It has many uses, e.g., to fasten a mooring line to a ring or a post. Under load, it does not slip or bind. With no load it can be untied easily. [image: ]
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Clove Hitch Tutorial
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Advantages

% Easy

% The rope on either side of the hitch can be
adjusted without untying the knot

% Can be tied with one hand effectively
shortening belay transitions

% Unties easily in Dyneema slings unlike the
overhand knot

% Holds tight when 1 strand is weighted

Disadvantages

% Slipping
% Binding

% Unreliable when tied to a rectangular or
square post

% Thinner ropes, when heavily loaded may be
difficult to untie
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How to |e a Timber Hitch

(] Wrap the rope round
e support

@ Pass the working end round
the standing part

@ Pull it to the left from
below the loop formed
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© Pull both ends tightly to secure
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Advantages Disadvantages

% Easy to tie and untie even under a heavy
load. % Secure only as long as tension is
maintained.
% Free from jamming or slipping.
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Bowline Knot Directions
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Advantages Disadvantages

. . % If there is a load in the standing end, it
% It does not slip or bind under load cannot be tied or untied. Hence, it should

% Fastand easy to tie and untie be avoided in that case.

% lts ease of untying makes it unsuitable for
mountain and rock climbing. It should be
tied with a stopper knot (double overhand)
‘when used for such purposes.

% Does not jam




